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	Function Operations

	

Given  and  find each of the following:

	1. 

	2. 


	3. 

	4. 


	5. 

	6. 


	7. 

	8. 


	Given the equation, find the inverse relation:

	9. 

	10. 


	11. 

	12. Determine if the following are inverses of one another.



	Given each graph, sketch the inverse.

	13. 
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	14. 
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	15. 
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	16. 
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	Graphing Root Functions, Solving Radical Equations

	Sketch a graph of each function.  Be sure to create an appropriate table and note domain and range.

	17. 
 

	18. 

	19. 


	20. 



	Solve the equations below.  Be sure to make sure that your answer is not extraneous.

	21. 

	22. 


	23. 

	24. 


	25. 

	26. 
Challenge!    

	Variation and Graphing Simple Rational Functions

	27.   A recipe for 2 dozen corn muffins calls for 6 cups of flour.  If the number of muffins varies directly with the amount of flour you use write an equation to model the situation.  Then determine how much flour you need to make 6 dozen muffins.



28.   To drive to visit friends in Wisconsin it would take 20 hours if you went 60 mph.  If the time it takes to drive to Wisconsin varies inversely with the speed you drive how long would it take if we drove 70 mph?  
	Sketch a graph of each rational function.  Identify all important points and asymptotes.


29.      



30.      

	Simplifying Rational Expressions

	31. 
 
	32. 


	33. 

	34. 
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